
 

 
Pool Carton Breakdown – Atlantis 48  NB 1008 

 
PV18361224    ESPRIT PW T 48 1224 HARMONY 
        CHANNEL LOK II OVAL 
  
 Features: Oval     Steel textured top rails 
   Size: 12’ x 24’   Wall with protectoloc finish 
   Depth: 48”    Galvanized steel bottom rails 
        Slotted tube stabilizers 
         
 
 Carton Part No. Carton Description Carton Qty.
 301224652 1224' x 48" ESPRIT P/W T FR PK CHLK II 1 
 3901480620 48" P/W T CH LOK II MID PK-06PK 1 
 36122410 1224' CH LOK II STRAP PACK 1 
  
 
 Wall Part No. Wall Description Carton Qty.
 381224144-2 1224' x 48" HARMONY 12S 2-1/2R 1 



(301224652)

7            2              6               4              6               6

NB1008 12'x24' Oval

Found in Frame Pack 30xxxx652
Rectangle
Side Top Plate
1320160

Found in Frame Pack 30xxxx652
Rectangle
Self Taping Screw

Found in Mid Pack 390148xx20
Rectangle
Buttress Upright
1440328

Found in Mid Pack 390148xx20
Rectangle
Hold Down plate
1320162

Found in Frame Pack 30xxxx652
Rectangle
Bottom Rail
See chart for part numbers

Found in Frame Pack 30xxxx652
Rectangle
Side Rail Support
1490494

Found in Mid Pack 390148xx20
Rectangle
Side Base Plate
1320154

Found in Mid Pack 390148xx20
Rectangle
Buttress Diagonal
1440330

Found in Mid Pack 390148xx20
Rectangle
1/4" - 20NC Serrated Flange Hex Nut
Found in hardware bag 1184292

Found in Mid Pack 390148xx20
Rectangle
1/4" - 20NC Serrated Flange Hex Nut
Found in hardware bag 1184292

Found in Mid Pack 390148xx20
Rectangle
1/4" - 20NC Serrated Flange Hex Nut
Found in hardware bag 1184292

Found in Mid Pack 390148xx20
Rectangle
1/4" - 20NC x 2-1/4" Hex Bolt
Found in hardware bag 1184292

Found in Mid Pack 390148xx20
Rectangle
1/4" - 20NC x 3/4" Hex Bolt
Found in hardware bag 1184292

Found in Mid Pack 390148xx20
Rectangle
1/4" - 20NC x 3/4" Hex Bolt
Found in hardware bag 1184292

Found in Mid Pack 390148xx20
Rectangle
1/4" - 20NC x 3/4" Hex Bolt
Found in hardware bag 1184292

Found in Mid Pack 390148xx20
Rectangle
Diagonal Bracket
1320152

Found in Strap Pack 36xxxx10
Rectangle
Strap
12' x 215.55 - 1510132
15' x 251.55 - 1510133
18' x 287.55 - 1510134

Found in Frame Pack 30xxxx652
Rectangle
Bottom Rail
See chart for part numbers

Found in Frame Pack 30xxxx652
Rectangle
Bottom Rail
See chart for part numbers

Found in Frame Pack 30xxxx652
Rectangle
Esprit Base Plate
1320101

brianmalcolm
Sticky Note
Marked set by brianmalcolm

Angie
Highlight



 (3901480620)

 (36122410)

 (381224144-2)

NB1008 12'x24' Oval

Angie
Highlight

Angie
Highlight


	NB1008_12x24'Oval_Atlantis48_CartonBreakdown.pdf
	NB1008_12x24'Oval_Atlantis48_Parts_Schematics.pdf



